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ıšÝþŁšð˛=−þ¹²þČÞÞþ= ž˛J

Þ¦ý˛š²= ×˛ž×šĞšÞ¦š= ŠŁ³¼

−×þˇÝšýW=₣²þ=Č=ŠþÝŽšÞ=ŠšÝ˛²ş

¦=ð˛ð=Č=ŠþÝŽšÞ=ŠšÝ˛²ş\

‡=Þšðþ²þ×Ş¼=¹Ý³₣˛Č¼=þŠÞ˛

¦ž=Ć²¦¼=−×þˇÝšý=Þ˛¹²þÝşðþ

−×šŁþ¹¼þŠ¦²= −þ= Ł˛ŽÞþ¹²¦

Š×³ł³ćI=₣²þ=ýþŽš²=−þð˛ž˛²şJ

¹ČI=ˇ³Š²þ=ýŞ=Łþþˇğš=¦ýššý

ŠšÝþ=Ý¦Ğş=¹=þŠÞþÐ;=Þ˛=¹˛ýþý
ŠšÝš=−š×šŠ=Þ˛ý¦=Ł¹šłŠ˛=þˇš

−×þˇÝšýŞK

ÍŞ= ¹ðÝþÞÞŞI= −×˛ŁŠ˛I

¦ÞþłŠ˛=−×¦−¦¹ŞŁ˛²ş=−š×ŁþÐ

−×þˇÝšýš=¥=Þ˛ýš₣šÞ¦ć=¾šÝ¦

¥=Ł²þ×þ¹²š−šÞÞ³ć=×þÝşI=ŽšJ

Ý˛Č=¹þ¹×šŠþ²þ₣¦²ş=Ł¹š=ŁÞ¦ý˛J

Þ¦š=Þ˛=ŠšÐ¹²Ł¦¦X=þŠÞ˛ðþI=²šý

¹˛ýŞý=ýŞ=þ²ð˛žŞŁ˛šý¹Č= þ²

Þšðþ²þ×þÐ=₣˛¹²¦=Þ˛Ğ¦¼=ŁþžJ

ýþŽÞþ¹²šÐI=₣²þI=×˛ž³ýšš²¹ČI

þ²×˛Ž˛š²¹Č=Þ˛=×šž³Ýş²˛²˛¼K

fiÝş−¦Þ¦¹²I=ðþ²þ×ŞÐ=¼þ₣š²

Łžþˇ×˛²ş¹Č=Þ˛=ð˛ðþÐJÞ¦ˇ³Šş

−¦ðI=Þš=ýþŽš²=þł×˛Þ¦₣¦²ş¹Č

ý¦ýþÝš²Þþ= ˇ×þĞšÞÞŞý

ŁžłÝČŠþý= Þ˛= Łš×Ğ¦Þ³= ¦= Ł

Š˛ÝşÞšÐĞšý=−þÝþŽ¦²ş¹Č=Þ˛

¹Łþ¦= ¹¦ÝŞK=Ìš×šŠ=Þ˛₣˛Ýþý

Łþ¹¼þŽŠšÞ¦Č=þÞ=−þ−Ş²˛š²¹Č

þžÞ˛ðþý¦²ş¹Č=¹=þ¹þˇšÞÞþ¹²ČJ

ý¦= −³²¦I= ₣²þˇŞ=Þ˛= þ¹ÞþŁš

¹Łþ¦¼= Þ˛ˇÝćŠšÞ¦Ð=þ−×šŠšJ

Ý¦²ş=ŁþžýþŽÞŞš=²×³ŠÞþ¹²¦=¦

−þ¹²˛Ł¦²ş=−š×šŠ=¹þˇþć=−×šŠJ

Ł˛×¦²šÝşÞ³ć=¥=̌ Ý¦žÝšŽ˛ğ³ć

¥=¾šÝşK

Ì×¦=−þ−Ş²ð˛¼=Þ˛Ð²¦=²×³ŠJ

Þþš=ý˛²šý˛²¦₣š¹ðþš=Šþð˛ž˛J

²šÝş¹²Łþ=ýŞ=Þ¦ðþłŠ˛=Þš=¹²×šJ

ý¦ý¹Č=¹×˛ž³=−þŠþÐ²¦=ð=ðþÞš₣J

ÞþÐ= ¾šÝ¦I= ˛= −×šŽŠš= Ł¹šłþ

−Ş²˛šý¹Č=×˛žÝþŽ¦²ş=ž˛Š˛Þ¦š

Þ˛=þ²ŠšÝşÞŞš=₣˛¹²¦I=ðþ²þ×Şš

Š˛ć²=Þ˛ý=ŁþžýþŽÞþ¹²ş=¦ž³J

₣¦²ş= ²×³ŠÞþ¹²¦=−ç×þžÞş= ¦

³−×þ¹²¦²ş=¹²þČğ³ć=−š×šŠ=Þ˛J

ý¦=ž˛Š˛₣³K


˛ð=Žš=¦=Ł=Ğ˛¼ý˛²˛¼K=Ë²þ

Þš=¹²˛Ł¦²=¹šˇš=Ł=Ğ˛¼ý˛²ÞþÐ

−˛×²¦¦= Š×³łþÐ= ¾šÝ¦I= ð˛ð

ý˛²þŁ˛Þ¦š=−×þ²¦ŁÞ¦ð˛I=²þ²

Þ¦ðþłŠ˛= Þš=ˇ³Šš²= ¼þ×þĞ¦ý

Ğ˛¼ý˛²¦¹²þýK=Â˛Š˛₣³=¥=ž˛ý˛J

²þŁ˛²ş= −×þ²¦ŁÞ¦ð˛=¥= ÞšþˇJ

¼þŠ¦ýþ=¹Þ˛₣˛Ý˛=ž˛ýšÞ¦²ş=×ČJ

Šþý=̌ þÝšš=−×þ¹²Ş¼I=̨ =¦ýšÞÞþ

¥= Šþ¹²¦ŽšÞ¦šý=ÞšˇþÝşĞ¦¼

−þž¦¾¦þÞÞŞ¼=−×š¦ý³ğš¹²ŁK

Ê=Ł˛ŽšÞ=Þš=²þÝşðþ=¹˛ý=½˛ð²

×˛žŠšÝšÞ¦Č= ¦ł×Ş=Þ˛=Ć²˛−ŞX

×˛žŠšÝšÞ¦š= ŠþÝŽÞþ= ˇŞ²ş

·Ý˛Ł˛=−š×Ł˛Č

Ô�Ófi�„·Ê˝=Ê=�fiË�ÊËfi
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−×˛ð²¦₣š¹ð¦=−×¦łþŠÞþI=−×šŠJ

Ł˛×¦²šÝşÞþ=−þ¹²˛ŁÝšÞÞ˛Č

¾šÝş=ŠþÝŽÞ˛=¹þþ²Łš²¹²ŁþŁ˛²ş

¹³ğš¹²ŁšÞÞŞý=þ¹þˇšÞÞþ¹²Čý

−þž¦¾¦¦K= Ë²þ= ¹²×šý¦²¹Č= ð

¹Ý¦Ğðþý=Š˛ÝšðþÐ=¾šÝ¦= ¦Ý¦

¦ğš²=šš=Þš=Ł=ŠþÝŽÞþý=Þ˛−×˛ŁJ

ÝšÞ¦¦I=²þ²=Šþ−³¹ð˛š²=²˛ð³ć

Žš==²ČŽšÝ³ć=þĞ¦ˇð³I=ð˛ð=¦

²þ²I= ð²þ= ¦ł×˛š²=ˇšž= Ł¹ČðþÐ

¾šÝ¦K

ÍŞ=×˛žÝ¦₣˛šý=Ł=Ğ˛¼ý˛²˛¼

¹²×˛²šł¦ć=¦=²˛ð²¦ð³K=Ô²×˛²šJ

ł¦Č=þ¼Ł˛²ŞŁ˛š²=−þ¹²˛ÞþŁð³

¾šÝšÐ=¦=¹þ¹²˛ŁÝšÞ¦š=−Ý˛ÞþŁX

²˛ð²¦ð˛=¥=ŁŞ−þÝÞšÞ¦š=−Ý˛J

ÞþŁK=Ô²×˛²šł¦Č=˛ˇ¹²×˛ð²Þ˛I

²˛ð²¦ð˛=ðþÞð×š²Þ˛K=‡Ş×˛Ž˛J

Č¹ş=−×þ¹²Şý=ČžŞðþýW=¹²×˛²šJ

ł¦Č= ²×šˇ³š²=×˛žýŞĞÝšÞ¦ČI

²˛ð²¦ð˛=¥=−×þÞ¦¾˛²šÝşÞþłþ

ŁžłÝČŠ˛K

Ï²ýš₣˛Č=žÞ˛₣šÞ¦š=¹²×˛²šJ

ł¦¦=ð˛ð=Þšþ²İšýÝšýþłþ=ĆÝšJ

ýšÞ²˛=Ğ˛¼ý˛²ÞþÐ=−˛×²¦¦I=ýŞ

ŠþÝŽÞŞ=²þ=Žš=¹˛ýþšI=ŁþžýþŽJ

ÞþI=Š˛Žš=šğš=¹¦ÝşÞššI=−þŠJ

₣š×ðÞ³²ş=Ł=þ²ÞþĞšÞ¦¦=²˛ð²¦J

ð¦K=ˆ˛¼ý˛²¦¹²I= ³ýšćğ¦Ð

−×˛Ł¦ÝşÞþ=þ¾šÞ¦²ş=−þž¦¾¦ć

¦=−×¦¹−þ¹þˇ¦²ş=¹Łþ¦=−Ý˛ÞŞ=ð

¼˛×˛ð²š×³=Ć²þÐ=−þž¦¾¦¦I=Þš

¹³ýšš²=¦¼=ð˛ð=¹ÝšŠ³š²=−×þŁš¹J

²¦I=š¹Ý¦=Ł=²˛ð²¦₣š¹ðþý=þ²ÞþJ

ĞšÞ¦¦=þÞ=Þš=þð˛Žš²¹Č=Þ˛=Šþ¹J

²˛²þ₣ÞþÐ=ŁŞ¹þ²šK=�˛ð²¦₣š¹J

ð˛Č= þĞ¦ˇð˛I=ð˛ð= −×˛Ł¦ÝþI

Þ˛ð˛žŞŁ˛š²¹Č= žÞ˛₣¦²šÝşÞþ

²ČŽšÝššI=₣šý=¹²×˛²šł¦₣š¹ð˛ČK

„¹Ý¦= ð²þJÞ¦ˇ³Šş=Þ˛₣¦Þ˛š²

˛²˛ð³= Þ˛=½š×žšŁþý=½Ý˛Þłš

Łýš¹²þ=²þłþI=₣²þˇŞ=Łš¹²¦=šš=Þ˛

ðþ×þÝšŁ¹ðþýI=þÞ=−×¦=¼þ×þĞšÐ

ðþÞ²×¦ł×š=−×þ²¦ŁÞ¦ð˛=−þ¹J

²š−šÞÞþ=ýþŽš²=−þ−˛¹²ş=Ł=ž˛J

²×³ŠÞ¦²šÝşÞþš=−þÝþŽšÞ¦šX

−×þ¹ýþ²×šŁ=Žš=ý˛²=Ł=ŠŁ˛=¼þŠ˛I

þÞ=²š×−¦²=−þ×˛ŽšÞ¦š=ÞšýšŠJ

ÝšÞÞþK=Î˛=−×þ²ČŽšÞ¦¦=−˛×J

²¦¦=Ğ˛¼ý˛²¦¹²=Þš¦žýš×¦ýþ

₣˛ğš= ¹²˛Ýð¦Ł˛š²¹Č= ¹= Łþ−J

×þ¹˛ý¦= ²˛ð²¦ð¦I=₣šý= ¹²×˛J

²šł¦¦X=Ć²þ=šğš=×˛ž=−þŠ²Łš×J

ŽŠ˛š²I=₣²þ=²˛ð²¦ð=¦ýšš²=̌ š¹J

₣¦¹ÝšÞÞŞš=−×š¦ý³ğš¹²Ł˛=−šJ

×šŠ=¹²×˛²šłþýK

Îš¹ýþ²×Č=Þ˛=ˇšž³¹ÝþŁÞþ

þł×þýÞþš=žÞ˛₣šÞ¦š=²˛ð²¦ð¦I

−þ₣²¦= Ł¹š= ¹³ğš¹²Ł³ćğ¦š

³₣šˇÞ¦ð¦=ž˛Þ¦ý˛ć²¹Č=−×š¦J

ý³ğš¹²ŁšÞÞþ= Łþ−×þ¹˛ý¦

¹²×˛²šł¦¦K=̊ ²þ=−×šŠ−þ₣²šÞ¦š

þˇİČ¹ÞČš²¹Č= ¹ÝšŠ³ćğ¦ý¦

−×¦₣¦Þ˛ý¦W=‡þJ−š×ŁŞ¼I=×˛žJ

Ł¦²¦š=²˛ð²¦₣š¹ð¦¼=¹−þ¹þˇJ

Þþ¹²šÐ=ž˛Ł¦¹¦²=̌ þÝşĞšÐ=₣˛¹J

²şć=þ²=−×˛ð²¦ð¦=¦=ČŁÝČš²¹Č

Łþ−×þ¹þý=×³²¦ÞŞK

‡þJŁ²þ×Ş¼I=−×þˇÝšýŞ=²˛ðJ

²¦ð¦=Þ˛¹²þÝşðþ=ýÞþłþ₣¦¹ÝšÞJ

ÞŞ=¦=×˛žÞþþˇ×˛žÞŞI=₣²þ=ýþŽš²

−þð˛ž˛²ş¹Č=̌ šžÞ˛ŠšŽÞþÐ=−þJ

−Ş²ð˛=ŁÞš¹²¦=Ł=Þ¦¼= ð˛ð³ćJ

Ý¦ˇþ=¹¦¹²šý˛²¦ž˛¾¦ćK



 Стратегия и тактика K  7

Ê=Ł¹š=ŽšI=Þš¹ýþ²×Č=Þ˛=−þJ

ŠþˇÞþš=þ²ÞþĞšÞ¦š=Ł=Ğ˛¼ý˛²J

ÞþÐ= Ý¦²š×˛²³×š=ð=Łþ−×þ¹˛ý

²˛ð²¦ð¦I=ýŞ=−þ−Ş²˛šý¹Č= Ł

Ć²þÐ=ðÞ¦łš=ŁŞŠŁ¦Þ³²ş=²˛ð²¦J

ð³=Þ˛=−š×ŁŞÐ=−Ý˛Þ=¦=ð˛¹˛²ş¹Č

Łþ−×þ¹þŁ= ¹²×˛²šł¦¦= Ý¦Ğş

−þ¹²þÝşð³I=−þ¹ðþÝşð³=Ć²þ=ŁŞJ

žŞŁ˛š²¹Č=Þšþˇ¼þŠ¦ýþ¹²şćK

Ì×šŽŠš= ₣šý=−š×šÐ²¦= ð

Š˛ÝşÞšÐĞšý³=¦žÝþŽšÞ¦ćI=ýŞ

−×¦ŁšŠšý=žŠš¹ş=−˛×²¦ćI= Þ˛

−×¦ýš×š=ðþ²þ×þÐ=−þŠ×þˇÞšš

þˇİČ¹Þ¦ý=−þÞČ²¦Č=¹²×˛²šł¦¦

¦=²˛ð²¦ð¦K

=flšÝŞšW=ÍK=flþ²Ł¦ÞÞ¦ðK

=ıš×ÞŞšW=‚J×=ÍK=̊ ÐŁšK

Êł×˛Þ˛=Þ˛=²³×Þ¦×š

Ł=ÈšÞ¦Þł×˛Šš=Ł=NVPQ=łK

NK=ÉOJÉQ ÉTJÉR

OK=CÖNJÑP CÄUJÅS

PK=EÑNJÄR ~TJ~S

QK=EÄRJ~Q CÖUJÑS

RK=M¥M CÑSWÉQ

SK=ÇOJÇQ ÄTJÄR

TK=E~QJÄP ÇTJÇR

UK=ÇQWÉR EÅUJÉS

ÊžŁš¹²ÞŞÐ= Ł˛×¦˛Þ²= ¦¹J
−˛Þ¹ðþÐ=−˛×²¦¦I=¦ýšćğ¦Ð
ð˛ð= ¹Łþ¦=ŁŞłþŠŞI=²˛ð=¦=ÞšJ
Šþ¹²˛²ð¦I=Þ˛=ðþ²þ×Ş¼=ýŞI=þŠJ
Þ˛ðþI=þ¹²˛Þ˛ŁÝ¦Ł˛²ş¹Č=Þš=̌ ³J
ŠšýK=Î˛ý=−þÝšžÞþI=þŠÞ˛ðþI
−þŠŁš×łÞ³²ş=−þÝ³₣¦ŁĞ³ć¹Č
−þž¦¾¦ć= Šš²˛ÝşÞþý³= ×˛¹J
¹ýþ²×šÞ¦ćI=²˛ð=ð˛ð=Ł=ÞšÐ=³Žš

¹ð×ŞŁ˛ć²¹Č=ðþÞ²³×Ş=̌ ³Š³ğšÐ
¹²×˛²šł¦¦K=„¹Ý¦=ýŞ=¹×˛ŁÞ¦ý
−šĞš₣Þ³ć=ðþÞ½¦ł³×˛¾¦ć
ˇšÝŞ¼=¦=₣š×ÞŞ¼I=Þ˛ý=̌ ×þ¹¦²¹Č
Ł=łÝ˛ž˛I=₣²þ=³=̌ šÝŞ¼=²×¦=−šĞð¦
Þ˛=þŠÞþÐ=¹²þ×þÞš=¥=Þ˛=½š×J
žšŁþý=½Ý˛Þłš=¥=¦=₣š²Ş×š=−šĞJ
ð¦=Þ˛=Š×³łþÐ=¹²þ×þÞš= ¥= Þ˛
ðþ×þÝšŁ¹ðþý=½Ý˛ÞłšK=ıš×ÞŞšI
Þ˛−×þ²¦ŁI= ¦ýšć²= ₣š²Ş×š
−šĞð¦=Þ˛=½š×žšŁþý=¦=²×¦=Þ˛
ðþ×þÝšŁ¹ðþý=½Ý˛ÞłšK=	˛ð¦ý
þˇ×˛žþýI= ˇšÝŞš= þˇÝ˛Š˛ć²
Ý¦ĞÞšÐ=−šĞðþÐ=Þ˛=ðþ×þÝšŁJ
¹ðþý=½Ý˛ÞłšI= ₣š×ÞŞš=Žš= ¥
Ý¦ĞÞšÐ=−šĞðþÐ=Þ˛=½š×žšŁþýK

‰šÝ˛Č=¦¹−þÝşžþŁ˛²ş=¹Łþš
−×š¦ý³ğš¹²Łþ=Þ˛=ðþ×þÝšŁJ
¹ðþý=½Ý˛ÞłšI=ˇšÝŞš=ŠþÝŽÞŞ
¹²×šý¦²ş¹Č=ð=¦Þ¦¾¦˛²¦Łš=Þ˛
Ć²þý=½Ý˛ÞłšI= Þ˛−×¦ýš×= ð
−×þŠŁ¦ŽšÞ¦ć=¹Łþ¦¼=−šĞšðK
	þ=Žš=¹˛ýþš=ýþŽÞþ=¹ð˛ž˛²ş=þ
₣š×ÞŞ¼=Þ˛=½š×žšŁþý=½Ý˛ÞłšK

Ô²×˛²šł¦Č=ˇšÝŞ¼=−þĆ²þý³
ŠþÝŽÞ˛=ˇŞ²ş=ŠŁþČðþÐW=−×þŠJ
Ł¦ŽšÞ¦š=Þ =̨ðþ×þÝšŁ¹ðþý=½Ý˛ÞJ
łš=¦=ž˛Šš×Ž˛Þ¦š=−×þŠŁ¦ŽšÞ¦Č
−×þ²¦ŁÞ¦ð˛= Þ˛= ½š×žšŁþý
½Ý˛ÞłšK=Ê=þˇ×˛²ÞþI=¹²×˛²šł¦Č
₣š×ÞŞ¼=ŠþÝŽÞ˛=ž˛ðÝć₣˛²ş¹Č=Ł
ž˛ğ¦²š=Þ =̨ðþ×þÝšŁ¹ðþý=½Ý˛Þłš
¦=̨ ²˛ðš=Þ =̨½š×žšŁþýK

Ìþ¹ÝšŠ³ćğ¦š=¼þŠŞI=ð˛ð
ˇšÝŞ¼I=²˛ð=¦=₣š×ÞŞ¼I=Ł−þÝÞš
¹þþ²Łš²¹²Ł³ć²= ³ð˛ž˛ÞÞŞý
¹²×˛²šł¦₣š¹ð¦ý=−Ý˛Þ˛ýK
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VK=¹OJ¹P KKK

‚ÝČ=˛²˛ð¦=ðþ×þÝšŁ¹ðþłþ
½Ý˛Þł˛=E¹²×˛²šł¦Č=̌ šÝŞ¼F=̌ šJ
ÝŞý=Þšþˇ¼þŠ¦ý=¹ÝþÞ=ÄPX=−þJ
Ć²þý³=ŠšÝ˛š²¹Č=¼þŠ=Ł=²šð¹²šI
−×šŠ³−×šŽŠ˛ćğ¦Ð=×˛žýšÞ
¹ÝþÞ˛=ÄP=Þ˛=ðþÞČ=̨ R=¦=−þŠłþJ
²þŁÝČćğ¦Ð=¼þŠ=E¹OK

VKKK EÑUJÉT

˝¹ÞþI=−þ₣šý³=Ć²þ²=¼þŠ=Ł

¹²×˛²šł¦₣š¹ðþý=þ²ÞþĞšÞ¦¦

¹¦ÝşÞššI=₣šý=VKKK=E¹RK=Î˛=−þÝš

¹R= ₣š×ÞŞÐ=¹ÝþÞ= −×š−Č²¹²J
ŁþŁ˛Ý=̌ Ş=ŠŁ¦ŽšÞ¦ć=¹ŁþšÐ=Žš

−šĞð¦=¹X=ýšŽŠ³=²šý= žÞ˛₣¦J

²šÝşÞ˛Č=̨ ð²¦ŁÞþ¹²ş=¹ÝþÞ˛=¹R

Ł=Þ˛−×˛ŁÝšÞ¦¦=ðþ×þÝšŁ¹ðþłþ

½Ý˛Þł˛= ˇšÝŞ¼=Þš= Ł¼þŠ¦²= Ł

¹²×˛²šł¦ć=₣š×ÞŞ¼K

NMK=CÄNJÇO KKK

„¹Ý¦= ˇšÝŞš=¹²×šýČ²¹Č= ð
˛²˛ðš=ðþ×þÝšŁ¹ðþłþ=½Ý˛Þł˛I=²þ

−š×ŁŞý=ŠþÝłþý=þÞ¦=ŠþÝŽÞŞ
³¹²×˛Þ¦²ş=ðþÞČ=šQK=‚þ=²š¼=−þ×I

−þð˛=ðþÞş=₣š×ÞŞ¼=ž˛Þ¦ý˛š²

¹Łþć=¹¦ÝşÞ³ć=−þž¦¾¦ćI=ˇšJ

ÝŞš=½¦ł³×Ş=Þš=Ł=¹þ¹²þČÞ¦¦

˛²˛ðþŁ˛²ş= ðþ×þÝšŁ¹ð¦Ð

½Ý˛Þł=₣š×ÞŞ¼K=ÌþĆ²þý³=¹ÝšJ

Š³ćğ¦š=¼þŠŞ=̌ šÝŞ¼=Þ˛−×˛ŁJ

ÝšÞŞ= Þ˛= þŠÞ³= Ć²³= ¾šÝş= ¥

³¹²×˛ÞšÞ¦š=ðþÞČ=šQK

ÍŞ= Ł¦Š¦ýI=₣²þ= ¹²×˛²šJ
ł¦₣š¹ð¦Ð=−Ý˛Þ=ˇšÝŞ¼=×˛¹−˛J

Š˛š²¹Č=Þ˛=Þš¹ðþÝşðþ=₣˛¹²¦₣J

ÞŞ¼=−Ý˛ÞþŁI= −š×ŁŞÐ=¦ž= ðþJ

²þ×Ş¼=¹þ¹²þ¦²=Ł=³¹²×˛ÞšÞ¦¦

ðþÞČ=šQK=˚²˛=þ−š×˛¾¦ČI=Ł=ðþJ

²þ×þÐ=ŠþÝŽÞŞ=−×¦ÞČ²ş=³₣˛¹J

²¦š= ₣š²Ş×š=½¦ł³×Ş= ¥=EÄPI
CÄNI=IÇN= ¦=GÑNI= þ²Þþ¹¦²¹Č

³Žš=ð=¹½š×š=²˛ð²¦ð¦K

NMKKK MJM

Â˛Łš×ĞšÞ¦š= ×˛žŁ¦²¦Č=¥

Þšþˇ¼þŠ¦ý˛Č=¹þ¹²˛ŁÞ˛Č=₣˛¹²ş

¹²×˛²šł¦¦=₣š×ÞŞ¼K=Îš=þˇš¹−šJ

₣¦Ł=ð×š−ðþÐ=−þž¦¾¦¦=¹Łþšý³

ðþ×þÝćI= ₣š×ÞŞš=Þš= ýþł³²

−×¦¹²³−¦²ş= ð=ŁŞ−þÝÞšÞ¦ć

¹Łþ¦¼= −Ý˛ÞþŁ=Þ˛=½š×žšŁþý
½Ý˛ÞłšK


˛ð²¦₣š¹ð¦=¹þŠš×Ž˛Þ¦š

Ć²þłþ=¼þŠ˛=þ−×šŠšÝČš²¹ČI=ýšŽJ

Š³=−×þ₣¦ýI=þ¾šÞðþÐ=Ł˛×¦˛ÞJ

²˛W=NNK=CWšQ=ÇÉ=NOK=EWšS=ÑÉ=NPK

CÇQ=IÇR=NQK=CW¹S=IW¹SI=¦=₣š×J

ÞŞš=ýþł³²=̌ Ş²ş=ŠþŁþÝşÞŞ=ŠþJ

¹²¦łÞ³²Şý=−þÝþŽšÞ¦šýX=þÞ¦
×˛¹−þÝ˛ł˛ć²=̌ þÝşĞšÐ=¹ŁþˇþJ

ŠþÐ=ŠŁ¦ŽšÞ¦ČI=¦=−šĞð˛=šR=̌ šJ
ÝŞ¼=¹Ý˛ˇšš=₣š×ÞþÐ=−šĞð¦=šQK

NNK=IÇNJÉO KKK

‡²þ×¦₣Þþš=Þ˛−˛ŠšÞ¦š=Þ˛

ðþÞČ=šQI=−×¦Þ³ŽŠ˛ćğšš=Ć²³

½¦ł³×³=ð=þ²¹²³−ÝšÞ¦ćK

NNKKK CÉQJÅR

NOK=CÑPJÇQ KKK

flþÝšš= š¹²š¹²ŁšÞÞŞý=ð˛J

Žš²¹Č=žŠš¹ş=NOK=E¹OK=Îþ=Þ =̨Ć²þ

−þ¹ÝšŠþŁ˛Ýþ= ˇŞ= NOKKK= ÇQ>I
Þ˛−×¦ýš×W= NPK= ÅÇ=CWÇQ= NQK

CWÇQ=IWÇQI=¦=₣š×ÞŞš=žÞ˛₣¦J

²šÝşÞþ=³ŁšÝ¦₣¦Ł˛ć²=¹ŁþˇþŠ³

−š×šŠŁ¦ŽšÞ¦Č=¹Łþ¦¼=½¦ł³×I=Ł
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²þ=Ł×šýČ=ð˛ð=Ğ˛Þ¹Ş=̌ šÝŞ¼=Þ˛

˛²˛ð³= ðþ×þÝšŁ¹ðþłþ=½Ý˛Þł˛

₣š×ÞŞ¼=ž˛ýš²Þþ=−˛Š˛ć²K=Ë×þJ
ýš= ²þłþI=−šĞš₣Þþš=−×šŁþ¹J

¼þŠ¹²Łþ= ₣š×ÞŞ¼=Þ˛¹²þÝşðþ

³¹¦Ý¦Ł˛š²¹ČI=₣²þ=−þ¹ÝšŠ³ćJ

ğšš=−×þŠŁ¦ŽšÞ¦š=−šĞð¦=¹=Šþ

¹R=¦=¹Q=³Žš=Þš=ýþŽš²=̌ Ş²ş=−×šJ

Š³−×šŽŠšÞþK

Êžˇ×˛ÞÞþš=−×þŠþÝŽšÞ¦š

NOK=CÑPJÇQ=þ¹ÞþŁŞŁ˛š²¹Č=Þ˛

¹ÝšŠ³ćğšÐ= ŁþžýþŽÞþ¹²¦W

NOKKK=CWÇQ=NPK=ÅÇ=CWÄP=NQK=CWÄPI
¦=̌ šÝŞš=þŁÝ˛ŠšŁ˛ć²=−³Þð²þý

¹RK=ıš×ÞŞš=Ł=Ć²þý=¹Ý³₣˛š=Þš

ýþł³²= −×þŠþÝŽ˛²ş= ¹TJ¹RX

²˛ð¦ý=þˇ×˛žþýI=¦¼=−š×šŁš¹=Ł

−šĞð˛¼=þˇš¹¾šÞ¦Ł˛š²¹ČI=Ł=²þ

Ł×šýČ=ð˛ð=Þ˛=Š×³łþý=½Ý˛Þłš

ˇšÝŞš=−þÝ³₣˛ć²=ŁþžýþŽÞþ¹²ş

ŠŁ¦ŽšÞ¦šý=−šĞð¦=Ñ=¦¹−þÝşJ
žþŁ˛²ş=¹Łþš=−šĞš₣Þþš=−×š¦J
ý³ğš¹²ŁþK

NOKKK CÅRWÄP

ıš×ÞŞš=ýþł³²=³Þ¦₣²þŽ¦²ş
¹ÝþÞ˛=ˇšÝŞ¼I=Þš=−×¦ˇšł˛Č=ð
×˛žýšÞ³=Þ˛=ÇQK=̊ ²þ=ŁþžýþŽÞþ
ˇÝ˛łþŠ˛×Č=¹ÝšŠ³ćğšÐ=²˛ð²¦J
₣š¹ðþÐ=²þÞðþ¹²¦W=Þ˛=NPK=CW¹S
−þ¹ÝšŠ³š²=NPKKK=CW¹N>I=¦=²š−š×ş
ÞšŁþžýþŽÞþ=NQK=CWÇU=ŁŁ¦Š³
NQ£=CWÉOH= Å=−þ²š×šÐ=ŠŁ³¼
½¦ł³×X=Þ˛=NQK=G˛W¹N= ¦Ý¦=NQK
GÑW¹N=−þ¹ÝšŠ³š²=NQ£=IÇT=NRK
CWšTH=IWšTI=¦=−þž¦¾¦Č=₣š×J
ÞŞ¼=−þ=¹×˛ŁÞšÞ¦ć=¹=¦¹¼þŠJ
ÞŞý=−þÝþŽšÞ¦šý=Þš= ¹²˛Ý˛

¼³ŽšK=Ìþ¹ÝšŠÞšš=ýþŽš²=̌ Ş²ş
−þŠð×š−ÝšÞþ=¹ÝšŠ³ćğ¦ý¦
¹þþˇ×˛ŽšÞ¦Čý¦W

NF=Ó˛žýšÞ=Þš¹ðþÝşð¦¼=½¦J
ł³×=³ýšÞşĞ¦Ý=Ğ˛Þ¹Ş=ˇšÝŞ¼
Þ˛=˛²˛ð³K

OF=ıš×ÞŞš=̌ šž=²×³Š˛=ýþł³²
ýþˇ¦Ý¦žþŁ˛²ş= E−×¦Łš¹²¦= Ł
ŠŁ¦ŽšÞ¦šF= ¹Łþš= −šĞš₣Þþš
−×š¦ý³ğš¹²Łþ=Þ˛=½š×žšŁþý
½Ý˛Þłš=−þ¹×šŠ¹²Łþý=¹TJ¹RK

PF=flšÝŞš=Þš=ýþł³²=̌ Ş¹²×þ
þ¹³ğš¹²Ł¦²ş=−×þŠŁ¦ŽšÞ¦š=ÑOJ
ÑQJÑRK

NPK=CÇOWÄP IÇUJÇT

ÌþŠþˇÞþ=²þý³I=ð˛ð=−×šŠJ
Ł˛×¦²šÝşÞŞÐ=−Ý˛Þ=ŠÝČ=̌ šÝŞ¼
ýŞ= ³¹ý˛²×¦Ł˛Ý¦= Ł= ³¹²×˛J
ÞšÞ¦¦= ðþÞČ= šQI= žŠš¹ş= ýŞ
ýþŽšý=−þŠ₣š×ðÞ³²şI=₣²þ=₣š×J
ÞŞš=Ł=−š×Ł³ć=þ₣š×šŠş=¹²×šJ
ýČ²¹Č= ð=−×þŁšŠšÞ¦ć= ¹TJ¹RK
È¦Ğş=−þ¹Ýš= ²þłþI=ð˛ð= þÞ¦
Šþˇşć²¹Č=Ć²þłþ=−×þŠŁ¦ŽšÞ¦ČI
þÞ¦=ýþł³²=−×þŠþÝŽ˛²ş=¹Łþ¦
þ−š×˛¾¦¦= Þ˛= ½š×žšŁþý
½Ý˛ÞłšK=ÍŞ=³Ł¦Š¦ý=²š−š×şI
ð˛ð=Ł=−×þŠþÝŽšÞ¦š=Þšðþ²þJ
×þłþ= Ł×šýšÞ¦= Ł¹š= ¼þŠŞ= ¦
ˇšÝŞ¼I=¦=₣š×ÞŞ¼=Ł×˛ğ˛ć²¹Č
Łþð×³ł=−³Þð²˛=¹RK

NQK=CÇQWÅS> KKK

Îš= ˇ³Šş=Ć²þłþ= ×˛žýšÞ˛I
₣š×ÞŞšI=−×þŠþÝŽ˛Č=CÇUI=̌ šž
²×³Š˛= −×þŁþŠ¦Ý¦=¼þŠ= ¹TJ¹RK
Í¦Þ³¹þý=Ć²þłþ=¼þŠ˛=ČŁÝČš²¹Č
²þI=₣²þ=ˇšÝŞš=³¹²³−˛ć²=−×þJ



10 K Стратегия и тактика

²¦ŁÞ¦ð³=ŠŁ³¼=¹ÝþÞþŁ= Eþ²ð˛J
žŞŁ˛Č¹ş=þ²=ŁžČ²¦Č=¹ÝþÞ˛=šSFX
þŠÞ˛ðþI=Þšþˇ¼þŠ¦ýþ¹²ş=−×šJ
Š³−×šŽŠšÞ¦Č=¹TJ¹R=þˇČžŞŁ˛š²
ð=Ć²þÐ=³¹²³−ðšK

Ï=žÞ˛₣šÞ¦¦=ŠŁ³¼= ¹ÝþÞþŁ
ýŞ=̌ ³Ššý=łþŁþ×¦²ş=Ł=²×š²şšÐ
łÝ˛ŁšK=Ìþð˛=þł×˛Þ¦₣¦ý¹Č=³ð˛J
ž˛Þ¦šýI= ₣²þ= ŠŁ˛= ¹ÝþÞ˛I=ð˛ð
−×˛Ł¦ÝþI=¹¦ÝşÞšš=ŠŁ³¼=ðþÞšÐ
¦Ý¦=ðþÞČ=¦=¹ÝþÞ˛K

NQKKK IÇTWÅS

NRK=EÅNJÉP KKK

Ìþ¹Ýš=−×šŠŞŠ³ğ¦¼=þˇİČ¹J
ÞšÞ¦Ð=¹ýŞ¹Ý=Ć²þłþ=¼þŠ˛=ÞšJ
²×³ŠÞþ=−þÞČ²şW=¹ÝþÞ=šP=Þ˛¾šJ
Ý¦Ł˛š²¹Č=Þ˛=−³Þð²=¹RK=„¹Ý¦
₣š×ÞŞš= ²š−š×şI= Þ˛−×¦ýš×I
−×þŠþÝŽ˛ć²=NRKKK=I¹TI=̌ šÝŞš
¼þŠþý=NSK=E¹R>=³ˇ¦Ł˛ć²=¹×˛ž³
ŠŁ³¼=ž˛Ð¾šŁW=þÞ¦=þŁÝ˛ŠšŁ˛ć²
−þÝšý= ¹RI= ˇÝ˛łþŠ˛×Č= ₣šý³
−˛×˛Ý¦ž³š²¹Č=−šĞš₣Þþš=−×šJ
Łþ¹¼þŠ¹²Łþ= −×þ²¦ŁÞ¦ð˛I= ˛
ð×þýš= ²þłþI= ×˛žýšÞ¦Ł˛ć²
¹ÝþÞ˛=šTI=₣²þ=Ý¦Ğ˛š²=₣š×ÞŞ¼
−×š¦ý³ğš¹²Ł˛=ŠŁ³¼=¹ÝþÞþŁK

NRKKK EÉSJÑR

NSK=GÑNJÇN GÑUJÇU

ıš×ÞŞš=Þš=ýþł³²=³ð×š−¦²ş
−³Þð²=¹R=¦=ŠþÝŽÞŞ=−˛¹¹¦ŁÞþ
Þ˛ˇÝćŠ˛²şI=ð˛ð=ˇšÝŞš= ž˛ŁþJ
šŁŞŁ˛ć²=Ć²þ=−þÝšK=ÏŠÞ˛ðþI=¼þŠ
Ł=²šð¹²š=Š˛š²=ÞþŁ³ć=ž˛ğ¦²³
−³Þð²³=ÇRI=¦=²š−š×ş=₣š×ÞŞš
ýþł³²= Ł= ³ŠþˇÞŞÐ= ŠÝČ= Þ¦¼
ýþýšÞ²= ¹Şł×˛²ş=IÖSI= ₣²þ

³¹¦Ý¦Ł˛š²= ˛ð²¦ŁÞþ¹²ş= ¦¼
½¦ł³×K

ÂŠš¹ş=ýŞ=ŠþÝŽÞŞ=þˇ×˛²¦²ş
ŁÞ¦ý˛Þ¦š=šğš=Þ˛=þŠ¦Þ=Łš¹şý˛
Ł˛ŽÞŞÐ=ŠÝČ=Þ˛Ğ¦¼= þˇİČ¹J
ÞšÞ¦Ð=²˛ð²¦₣š¹ð¦Ð=ýþýšÞ²K
ÍþŽš²=−þð˛ž˛²ş¹ČI=₣²þ=̌ šÝŞšI
−þ¹×šŠ¹²Łþý=C˛R=¦=CÄTI=ýþJ
ł³²= ÞšýšŠÝšÞÞþ= þŁÝ˛Šš²ş
−þÝšý=¹RK=Î˛−×¦ýš×I=NTK=C˛R
IÖS=NUK=CÄT=EŁ¹š=¹=ŁŞ¦ł×ŞJ
Ğšý=²šý−þŁ>F=¦=ž˛²šý=NVK=C¹R
¦Ý¦=NVK=E¹RK=ÏŠÞ˛ðþI=₣š×ÞŞš
ÞšþŽ¦Š˛ÞÞþ=¦ł×˛ć²=NUKKK=ÇQ>I
³ł×þŽ˛Č= EšQ= ¹= ŠŁþÐÞþÐ
˛²˛ðþÐ=¥=Þ˛=ÖO=¦=Þ˛=ðþÞČ=ÄTK
Ìþ¹Ýš=ŁŞÞ³ŽŠšÞÞþłþ=−×þŠþÝJ
ŽšÞ¦Č=NVK=CWÇU=ÇÉ=ðþÞş=Þ˛=ÇU
ž˛−š×²I= ²˛ð=ð˛ð=OMK=CÄT= Þš
łþŠ¦²¹Č=¦žJž˛=OMKKK=EšQK

Ë˛ð¦ý= þˇ×˛žþý= ýþłÝ˛
ŁÞšž˛−Þþ=−þÝ³₣¦²ş¹Č=−þŠþˇJ
Þ˛Č=ðþýˇ¦Þ˛¾¦Č\=ÊÝ¦I=ŁŞ×˛J
Ž˛Č¹ş= ²þ₣ÞššW=þ¹ÞþŁ˛Þ˛=Ý¦
þÞ˛= Þ˛= ð˛ð¦¼JÝ¦ˇþ= þ−×šJ
ŠšÝšÞÞŞ¼= þ¹þˇšÞÞþ¹²Č¼
−þž¦¾¦¦\= Ï²Łš²= Þ˛= Ć²þ²
Łþ−×þ¹=þ₣šÞş=Ł˛ŽšÞI=²˛ð=ð˛ð
žÞ˛ðþý¹²Łþ=¹=þ¹þˇšÞÞþ¹²Čý¦I
ðþ²þ×Şš=ŠšÝ˛ć²=ŁþžýþŽÞþÐ
ðþýˇ¦Þ˛¾¦ćI= ČŁ¦Ýþ¹ş= ˇŞ
¹Łþšłþ= ×þŠ˛=−×šŠ³−×šŽŠšJ
Þ¦šýW=…fl³Šş=Þ˛₣šð³>ŸK=‡šŠş
Þš×šŠðþ=¹Ý³₣˛š²¹ČI=₣²þ=Š˛Žš
¹¦ÝşÞŞš=Ğ˛¼ý˛²¦¹²Ş=¹²˛ÞþJ
ŁČ²¹Č=Žš×²Ł˛ý¦=ÞšþŽ¦Š˛ÞJ
ÞŞ¼= ðþýˇ¦Þ˛¾¦ÐI= ²˛ð= ð˛ð
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−×˛ð²¦₣š¹ð¦=ÞšŁþžýþŽÞþ
×˛¹¹₣¦²ŞŁ˛²ş=Þ˛=ýÞþłþ=¼þŠþŁ
Ł−š×šŠ=¹˛ýŞš=×˛žÞþþˇ×˛žÞŞš
ŁþžýþŽÞþ¹²¦K

ÏŠÞ˛ðþI=−×šŠ³−×šŽŠ˛ćJ
ğ¦š= ýþýšÞ²Ş= Eð= ¹₣˛¹²şćF
¹³ğš¹²Ł³ć²I=¦=×˛¹−þžÞ˛²ş=¦¼
Þš= ²˛ð= ³Ž=²×³ŠÞþK= Ë²þ= ³łJ
Ý³ˇÝČš²¹Č= ¹ŁþšÐ=½¦ł³×þÐ=Ł
þˇÝ˛¹²ş=×˛¹−þÝþŽšÞ¦Č=−×þJ
²¦ŁÞ¦ð˛I=ŠþÝŽšÞ=¹þˇÝćŠ˛²ş
þ¹²þ×þŽÞþ¹²şW= šłþ=½¦ł³×˛
¹²˛ÞþŁ¦²¹Č=þˇİšð²þý=˛²˛ð¦I
þÞ˛=“Ćð¹−þÞ¦×þŁ˛Þ˛”K=‡=−þJ
ŠþˇÞŞ¼=¹Ý³₣˛Č¼=¹ÝšŠ³š²=þ¹þJ
ˇšÞÞþ= þ−˛¹˛²ş¹Č= ŠŁþÐÞþłþ
³Š˛×˛K=„¹Ý¦=Ł=−þž¦¾¦¦=š¹²ş
šğš= þŠÞ˛= ¹Ý˛ˇþ¹²şI= ¦= ŁþžJ
ýþŽÞþI=þŠÞþŁ×šýšÞÞþš=Þ˛−˛J
ŠšÞ¦š=Þ˛=þˇš=¹Ý˛ˇþ¹²¦I=²þI=ð˛ð
−×˛Ł¦ÝþI= ²×³ŠÞþ=¦žˇšŽ˛²ş
ý˛²š×¦˛ÝşÞŞ¼=−þ²š×şK=Ìþ−×þJ
ˇ³šý=ŁŞ×˛ž¦²ş=Ć²³=ýŞ¹Ýş=ÞšJ
¹ðþÝşðþ= ²þ₣ÞššK=ÌþŠ= ¹Ý˛J
ˇþ¹²şć= ýŞ=−þŠ×˛ž³ýšŁ˛šý
½¦ł³×³=¦Ý¦=−þÝšI=ðþ²þ×Şš=Ł
Š˛ÞÞŞÐ=ýþýšÞ²=Þ˛¼þŠČ²¹Č=Ł
×˛ŁÞþŁš¹¦¦I=²þ=š¹²ş=¹²þÝşðþ
Žš=×˛ž=̨ ²˛ðþŁ˛ÞŞI=ð˛ð=¦=ž˛ğ¦J
ğšÞŞI=Þþ=þ₣šÞş=Ýšłðþ=ýþł³²
ˇŞ²ş=−þŠŁš×łÞ³²Ş=šğš=þŠÞþÐ
Šþ−þÝÞ¦²šÝşÞþÐ=³ł×þžšK=Î˛
Þ¦Žš−×¦ŁšŠšÞÞþÐ=Š¦˛ł×˛ýýš
−šĞð˛=šRI=Þ˛−×¦ýš×I=ČŁÝČš²¹Č
¹Ý˛ˇþ¹²şć=EÞšž˛Ł¦¹¦ýþ=þ²=²þJ
łþI=₣²þ=þÞ˛=Þ¦=×˛ž³=Þš=˛²˛ðþJ
Ł˛Þ˛=¦=Þ¦=×˛ž³=Þš=ž˛ğ¦ğšÞ˛FX

Þþ=ýŞ=ŠþÝŽÞŞ=²³²=Žš=−þŠ₣š×J
ðÞ³²şI=₣²þ=Š˛ÝşÞšÐĞšš=¹³ğš¹J
²ŁþŁ˛Þ¦š=Ć²þÐ=¹Ý˛ˇþ¹²¦=ž˛Ł¦J
¹¦²= þ²= ŽšÝ˛Þ¦Č= ˇšÝŞ¼I= ¦
−þĆ²þý³=þÞ˛=ČŁÝČš²¹Č=Ł×šýšÞJ
ÞþÐ=EˇšÝŞš=ýþł³²=×šĞ¦²šÝşÞþ
³ð×š−¦²ş=−³Þð²=šRFK=Ô=²þ₣ð¦
ž×šÞ¦Č=²˛ð²¦ð¦=Ć²þ=Þ¦₣šłþ=Þš
ýšÞČš²K= Â˛²þ= Ć²þ= þˇ¹²þČJ
²šÝş¹²Łþ= þ₣šÞş=Ł˛ŽÞþ= ŠÝČ
¹²×˛²šł¦¦I=−þ¹ðþÝşð³=−þ¹ÝšJ
ŠþŁ˛²šÝşÞ˛Č=̨ ²˛ð˛=₣š×ÞŞ¼I=²þ
š¹²ş= ¹²×˛²šł¦₣š¹ð˛Č=˛²˛ð˛I
Þ¦₣šłþ=Þš=ýþŽš²=Š˛²şI= š¹Ý¦
−šĞð˛= Ýšłðþ= ýþŽš²= ˇŞ²ş
ž˛ğ¦ğšÞ˛K

ÌþĆ²þý³=ýŞ=ŠþÝŽÞŞ=ŠšJ
Ý˛²ş= ×˛žÝ¦₣¦š=ýšŽŠ³= ¹²×˛J
²šł¦₣š¹ð¦ý¦=¹Ý˛ˇþ¹²Čý¦I=ðþJ
²þ×Şš=¹=²×³Šþý=−þŠŠ˛ć²¹Č=ž˛J
ğ¦²š=EþŠÞ˛ðþI=Šþ=¦žŁš¹²Þþłþ
ýþýšÞ²˛=ýþł³²=ˇŞ²ş=Ł−þÝÞš
³ŠþŁÝš²Łþ×¦²šÝşÞþ=ž˛ğ¦ğ˛J
šýŞFI=¦=²˛ð²¦₣š¹ð¦ý¦=¹Ý˛ˇþ¹J
²Čý¦I= ðþ²þ×Şš= ð˛ð= ×˛ž= Ł
Š˛ÞÞŞÐ= ýþýšÞ²= ýþł³²
þð˛ž˛²ş¹Č= −Ýþ¼þ= ž˛ğ¦ğšÞJ
ÞŞý¦K=ÌšĞð˛=šR=ð˛ð=×˛ž=²˛ðJ
²¦₣š¹ð¦=¹Ý˛ˇ˛K=Ìþ¹Ýš=NTK=C˛R

IÖS=−šĞð˛=ÖO=²˛ðŽš=²˛ð²¦J

₣š¹ð¦=¹Ý˛ˇ˛W=þŠ¦Þ=×˛ž=˛²˛ðþJ

Ł˛Þ˛=¦=þŠ¦Þ=×˛ž= ž˛ğ¦ğšÞ˛K

ÔÝšŠ³ćğ¦Ð= ¼þŠ= ˇšÝŞ¼= NUK
CÄT=¹þžŠ˛š²=²×š²şć=¹Ý˛ˇþ¹²ş

Þ˛=ÄTX=²š−š×ş=₣š×ÞŞý=Þ³ŽÞþ

−þ−Ş²˛²ş¹Č=þŠÞþŁ×šýšÞÞþ

˛²˛ðþŁ˛²ş= ŠŁš= ¦ž= Ć²¦¼
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POKKK KÑSJÉR

PPK=KÉNJÇO KÉRJÇQ

PQK=ÑOJÑP ~RJ~Q

PRK=EÅOJÇN ~QWÄP

PSK=~OWÄP KKK

„¹Ý¦=PSK=EWÄPI=²þ=CÅRJÇTJ
ÄSI=ŁŞ¦ł×ŞŁ˛Č=−šĞð³=¹QK

PSKKK CÅRJÇP

PTK=EÇNJšO CÇPJÑQ

PUK=EÉOJÑN CÑQJÜR

PVK=EÑNJÉO CÜRJÖP

QMK=EÉOJÇP ÜTJÜR

ıš×ÞŞš=¹Þ˛₣˛Ý˛=ž˛Þ¦ý˛J
ć²=¹Łþ¦ý¦=−šĞð˛ý¦=Þ˛¦Ý³₣J
Ğ¦š=−þž¦¾¦¦K

QNK=EÇPJÄN ÜRJÜQ

QOK=EÄNJÇP ÑTJÑR

QPK=ÅQJÅR KKK

Ô×˛ž³=−×þ¦ł×ŞŁ˛š²K=ÏŠÞ˛J
ðþ=¦=−þ¹Ýš=QPK=EÉO=E¦Ý¦=ÄNF
ˇšÝŞš=−þł¦ˇ˛Ý¦W= QPKKK=CÑNH
E¦Ý¦=¹Þ˛₣˛Ý˛=šğš=ÖSJÖR=¦=ÑRJ
ÑQF=QQK=KšO=CÉP=QRK=KÑO=ÑQ=QSK
EWÖS=KÅP=¦=²K=ŠK

QPKKK ÇSW¹R

ÔŠ˛Ý¹ČK
ÔÝ˛ˇþ¹²ş=−þž¦¾¦¦=ˇšÝŞ¼

Eð˛ð=¦=Ł=−þÝþŽšÞ¦¦I=¦žþˇ×˛J
ŽšÞÞþý=Þ˛=¹²×K=NRSF=ž˛ðÝć₣˛J
š²¹Č=Ł=−þÝÞþý=łþ¹−þŠ¹²Łš=₣š×J
ÞŞ¼=Þ˛=₣š×ÞŞ¼=−þÝČ¼K=ËþÞş
þð˛ž˛Ý¹Č=¹¦ÝşÞšš=¹ÝþÞ˛K

Îš−þŠŁ¦ŽÞŞš= −šĞð¦=Þ˛

−þÝČ¼=¾Łš²˛=Þš−×¦Č²šÝş¹ðþłþ

¹ÝþÞ˛

MKKKKKKKKN
I?@?@?@?@J
I@?@?@?@?J
I?@?8?(#@J
I@#@?@?@#J
I#"?@?@?"J
I"?@?6?"?J
I?@?@?@?@J
I@?@)@?@?J
PLLLLLLLLO
ÛþŠ=̌ šÝŞ¼K=ÏÞ¦=ŁŞ¦ł×ŞŁ˛J

ć²=¹ÝšŠ³ćğ¦ý=þˇ×˛žþýW

NK=EÇNJÉO KKK

˚²þ=¹¦ÝşÞššI=₣šý=NK=EÅOI
Þ˛= ₣²þ= −þ¹ÝšŠþŁ˛Ýþ=ˇŞ= NKKK
CÖQH=¦=OKKK=CÉRK

NKKK KÇSJ¹S

„¹Ý¦=NKKK=CÖQHI=²þ=OK=EWÖQ
ÜÖ=PK=KÑQI=ŁŞ¦ł×ŞŁ˛Č=−šĞð³
EPKKK=KÇR=QK=KÖR>=¦=²K=ŠKFX=š¹Ý¦
Žš=NKKKCÇRHI=²þ=OK=KÇQ=CÅT
E¦Ý¦=OKKK=KÅS=PK=EÑPF=PK=EÇP
CÉSH=QK=KÉP=¦=²K=ŠK

OK=EÉOJÇP CÑSJÇRH

Î˛=OKKK=CÖQH=−þ¹ÝšŠ³š²=PK
KÑQK

PK=KÉPJÇQ CÇRJÉT

QK=KÇQJÉR=¦=ŁŞ¦ł×ŞŁ˛ć²K

ËþÞş= E¦Ý¦=ðþÞ¦F= −×þ²¦Ł

ðþÞČ=EðþÞšÐF

‡=Ć²þłþ=×þŠ˛=ĆÞŠĞ−¦ÝČ¼
¾Łš²=−þÝšÐI=ž˛Þ¦ý˛šýŞ¼=−šĞJ
ð˛ý¦I= ˇšž×˛žÝ¦₣šÞK= Â˛²þ
þ₣šÞş= Ł˛ŽÞþ=Þš= Šþ−³¹ð˛²ş
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¹Ý˛ˇŞ¼=−þÝšÐ=Ł=¹ŁþšÐ=−þž¦J

¾¦¦K=ÔÝ˛ˇŞš=−šĞð¦=ČŁÝČć²J

¹Č=²˛ðŽš=₣³Ł¹²Ł¦²šÝşÞŞý=ý¦J

Þ³¹þýK=‡¹š=Ć²þ=ýþŽÞþ=¦ÝÝć¹J

²×¦×þŁ˛²ş=¹ÝšŠ³ćğ¦ý=−þÝþJ

ŽšÞ¦šýK

MKKKKKKKKN
I?@?@?@?@J
I$?@?@?@?J
I?@?@#@?@J
I@#8?@#@%J
I?@?$?"?@J
I@?@!@?@?J
I!"'@!6?@J
I@?@?@?@?J
PLLLLLLLLO
Ò=̌ šÝŞ¼=¹Ý˛ˇŞ=−šĞð˛=ÑQ=¦

−þÝš=ÉPK=ÛþŠ=₣š×ÞŞ¼I=ðþ²þ×Şš

ŁŞ¦ł×ŞŁ˛ć²=¹ÝšŠ³ćğ¦ý=þˇJ

×˛žþýK

NKKK CÅOJšP

Ô=³ł×þžþÐ=CÇNHK
OK=KÑOJÉN KKK

„¹Ý¦= OK= ÄPI=²þ= −þ¹Ýš= OKKK

CÇNH=¦=ž˛²šý=CÅP=̌ Ş¹²×þ=²šJ

×Čš²¹Č=þŠÞ˛=¦ž=−šĞšð=Þ˛=½š×J

žšŁþý=½Ý˛ÞłšK=Â˛²þ=²š−š×ş=−þJ

ł¦ˇ˛š²=−šĞð˛=ÑQK

OKKK KÅRJÇS

PK=KÉNJÇO KÇSJÉT

QK=CÜRJÖP CÉPJÇR

Ê=−šĞð³=ÑQ=ÞšÝşžČ=¹−˛¹²¦I
²˛ð=ð˛ð=Þ˛=RK=CÜR=−þ¹ÝšŠ³š²

KšTJÑTJÖSK

Â˛ð˛Þ₣¦Ł˛Č=Þ˛=Ć²þý=Þ˛Ğ

þˇžþ×=Þšðþ²þ×Ş¼=þ¹ÞþŁÞŞ¼

²¦−þŁ=ĆÞŠĞ−¦ÝČI=−×¦ŁšŠšý=Ł

ž˛ðÝć₣šÞ¦š=Þš¹ðþÝşðþ=Łš¹şý˛
−þ³₣¦²šÝşÞŞ¼=Ć²ćŠþŁK

˚²ćŠ=Ô˛˛ŁšŠ×Ş

MKKKKKKKKN
I?@?@?@?@J
I@?@?@?@?J
I?6!@?@?@J
I@?@/@?@?J
I?@?@?@?@J
I@?@?@?@?J
I?@?@?@?@J
I8?@?@?@?J
PLLLLLLLLO

flšÝŞš=Þ˛₣¦Þ˛ć²=¦=ŁŞ¦ł×ŞŁ˛ć²

NK=ÅSJÅT GÇRJÇSH

OK=KÄSJÄR KKK

Îš=łþŠ¦²¹Č=Þ¦=OK=K¹R=¦žJž˛

OKKK=GÇN=PK=¹UI=G¹NHI=Þ¦=OK=KÄT
¦žJž˛=OKKK=GÇTK

OKKK GÇSJÇRH

PK=KÄRJÄQ GÇRJÇQH

QK=KÄQJÄP GÇQJÇPH

RK=KÄPJÅO> KKK

Î˛ðþÞš¾J²þ=ðþ×þÝş=ýþŽš²

−š×šÐ²¦=Þ˛=Łš×²¦ð˛Ýş=…¹Ÿ>

RKKK GÇPJÇQ>

ÊÞ²š×š¹ÞŞÐ=×š¹³×¹W=š¹Ý¦

SK=¹UII=²þ=SKKK=G¹QH=TK=IW¹QI=¥
−˛²>

SK=¹TJ¹UG>> KKK

Òł×þŽ˛Č=TK=G~U@K
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SKKK GÇQJ~Q

TK=KÅOJÄP KKK

ÊI=³ł×þŽ˛Č=ý˛²þý=Þ˛= ¹NI
ˇšÝŞš=ŁŞ¦ł×ŞŁ˛ć²=Ý˛ŠşćK

˚²ćŠ=Þš¦žŁš¹²Þþłþ=̨ Ł²þ×˛

E¦ž=×þŽŠš¹²ŁšÞ¹ðþłþ=Þþýš×˛
“e~~ÖëÅÜÉ=mçëí”I=NVOOFK
MKKKKKKKKN
I-6?@?@?@J
I"!"?@?@?J
I?@?@?@?@J
I@?(?@?@?J
I?@?@?@?,J
I@?@?@#8?J
I?@?@?@?@J
I@?@?@?@?J
PLLLLLLLLO

Î =̨−š×ŁŞÐ=ŁžłÝČŠI=−þÝþŽšJ
Þ¦š=³=̌ šÝŞ¼=þ²ÞćŠş=Þš=−Ýþ¼þšI
²˛ð=ð˛ð=³=Þ¦¼=¾šÝŞ¼=²×¦=−šĞJ
ð¦=Þ˛=TJÐ=łþ×¦žþÞ²˛Ý¦K=Î˛=¹˛J
ýþý=ŠšÝšI=þŠÞ˛ðþI=Þ¦=þŠÞ˛=¦ž
Ć²¦¼=−šĞšð=Þš=ýþŽš²=−×þÐ²¦
Ł=½š×ž¦K=„¹Ý¦I=Þ˛−×KI=NK=¹UII
²þ=NKKK=C˛S@I=˛=š¹Ý¦=NK=K¹U=ÑO
OK=ÄUII=²þ=OKKK=ÑNII=¦=³=ˇšÝŞ¼
Þš²=ž˛ğ¦²Ş=þ²=ý˛²˛K

Ê=Ł¹š=Žš=³=Þ¦¼=Þ˛¼þŠ¦²¹Č
¹−˛¹šÞ¦šW

NK=KÄUJ¹U ÑPJÑO

OK=ÄTJÄUE>> ÑOJÑNI

Ì˛²>
„¹Ý¦I=Łýš¹²þ=¼þŠ˛=Ł=²šð¹²šI

₣š×ÞŞš=¹Şł×˛ć²=OKKK=CÄP=EšŠ¦ÞJ

¹²ŁšÞÞŞÐ= ¹−þ¹þˇ=¦žˇšŽ˛²ş
−˛²˛FI=²þ=−þ¹ÝšŠ³š²=PK=KÄT=ÑNI
QK=¹UIHI=¦=²š−š×ş=³Žš=₣š×ÞŞš
×¦¹ð³ć²=−×þ¦ł×˛²şK

˚²ćŠ=ÈKÊKË³ˇˇšÝČ

MKKKKKKKKN
I?@?@?@?@J
I@?@?4?@?J
I?@#@?@?@J
I@?(?@1@?J
I#@?@?@%@J
I@?@?@?@7J
I?@?@?@?@J
I@5@?@?@?J
PLLLLLLLLO
Ò=ˇšÝŞ¼=ŠŁ³ýČ=−šĞð˛ý¦

ýšÞşĞšI=Þþ=þ²Ý¦₣Þþš=−þÝþŽšJ

Þ¦š=¦¼=½¦ł³×=−þžŁþÝČš²=¦ý

−×þŁš¹²¦=²þÞð³ć=ðþýˇ¦Þ˛¾¦ć

¹=ý˛²þŁŞý¦=³ł×þž˛ý¦I=−×¦ŁþJ

ŠČğ³ć=ð=ŁŞ¦ł×ŞĞ³=½š×žČK

NK=CÖQJÉPH KKK

‚×³ł¦š=Ğ˛¼¦=¹= þ²¼þŠþý

ðþÞČ=Þ¦=ð=₣šý³=Þš=ŁšŠ³²X=Þ˛−×KI

NK=CÑOH=KÖOI=¦=ˇšÝŞš=Þš=ýþJ

ł³²=Š˛²ş=Ğ˛¼I=Þš=²š×ČČ=ðþÞČK

NKKK KÜPJÖP

„Š¦Þ¹²ŁšÞÞŞÐ=¼þŠK=„¹Ý¦I

Þ˛−×KI= NKKK=KÜOI= ²þ=OK=IÑOH

KÜP=PK=IÖOH=¦=QK=IÖQ@K

OK=IÑRJÖQH KÖPJÑO

PK=IÖQJÑQH KÑOJÉO

PKKK=KÉN=−×¦ŁþŠ¦²=ð=²þý³=ŽšI

˛=Þ˛=PKKK=KÖN=¹ÝšŠ³š²=ý˛²=Ł=ŠŁ˛

¼þŠ˛K

flšÝŞš=Þ˛₣¦Þ˛ć²=¦=ŁŞ¦ł×ŞŁ˛ć²

flšÝŞš=Þ˛₣¦Þ˛ć²=¦=ŠšÝ˛ć²=Þ¦₣şć
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QK=IÑQJÑNH KKK

ÎšÝşžČ=ˇ×˛²ş=ðþÞČ= ¦žJž˛

−þ²š×¦=½š×žČK=fið²¦ŁÞþ¹²ş

ðþÞČ=Ł=Ć²þý=Ć²ćŠš=þ¹ÞþŁ˛Þ˛

Þ˛=²þýI=₣²þ=þÞ=Þš=²×šˇ³š²=ž˛J

ğ¦²ŞK

QKKK KÉOJÇO

RK=IÑNJÇNH KÇOJÅP

SK=IÇNJÅOH KÅPJÄQ

ÎšÝşžČI=ðþÞš₣ÞþI=SKKK=KÇQ

¦žJž˛=TK=CÑRHK

TK=I¹OJÄOH CÅRJÄP

˝¹ÞþI=₣²þ=ÞšÝşžČ=TKKK=K˛R
¦žJž˛=UK=CÅQH=¦=VK=IÄS@K=Ìþ¹J

Ýš=¼þŠ˛=Ł=²šð¹²š=ýþŽš²=−þð˛J

ž˛²ş¹ČI=₣²þ=̨ ²˛ð˛=̌ šÝŞ¼=þ²ˇ¦J

²˛K=Îþ=³=Þ¦¼=Þ˛¼þŠ¦²¹Č=ž˛ýšJ

₣˛²šÝşÞŞÐ=×š¹³×¹K

UK=IÄOJ~PH>

flšÝŞš=ŁŞ¦ł×ŞŁ˛ć²K=„¹Ý¦

UKKK=KW~PI=²þ=VK=CÅO@I=˛=š¹Ý¦
ðþ×þÝş=³¼þŠ¦²I=²þ=̌ šÝŞš=ž˛ˇ¦J

×˛ć²=½š×žČK

˚²ćŠ=fiK�×þ¦¾ðþłþ

MKKKKKKKKN
I?@?@)@?@J
I@?@?@?@?J
I?@?@?@%@J
I@?@?@#@?J
I?0?@?@#@J
I@?@?@?$7J
I?@?@?@?,J
I@?@?6?@1J
PLLLLLLLLO

Ò=ˇšÝŞ¼=ČŁÞŞÐ=−š×šŁš¹=Ł
¹¦Ý˛¼K=Îþ= ð˛ð=¦ý= þ²×˛ž¦²ş
þ−˛¹ÞšÐĞ³ć=³ł×þž³=GÄNH=¦
ÖPJÖO\=‰š×²Ł˛=ðþÞČ=−þ¹×šŠJ
¹²Łþý=NK=CÑQH=Þ¦₣šłþ=Þš=Š˛š²I
²˛ð=ð˛ð=−þ¹Ýš=NKKK=GWÑQ=OK=EÅS
E₣²þˇŞ=ž˛Šš×Ž˛²ş=−šĞð³=ÖF
OKKK=GÑO=₣š×ÞŞš=Ł¹š=Žš=ł×þžČ²
ÖPJÖO=¦=Šþ¹²¦ł˛ć²=−þ=ýšÞşĞšÐ
ýš×š=Þ¦₣şšÐK=„ğš=¼³ŽšI=ðþJ
Þš₣ÞþI= NK=IÑNH=ÖO=OK=IÇPH
EÖPH>

Îþ=þð˛žŞŁ˛š²¹ČI=₣²þ=̌ šÝŞš
ŁŞ¦ł×ŞŁ˛ć²I= −þŽš×²ŁþŁ˛Ł
−þ₣²¦=Ł¹š=¹Łþ¦=½¦ł³×ŞK

NK=EÉUJ¹S GÄQJÄNH

Ò=₣š×ÞŞ¼=Þš²=ŁŞˇþ×˛=ŁŁ¦J
Š³=³ł×þžŞ=OK=I=E¦Ý¦=EF=ÖO@K
„¹Ý¦I= Þ˛−×KI= NKKK=GÄOI= ²þ= OK
EÖOH=GWÖO=PK=CÑQHI=¦=ŁŞ¦łJ
×ŞŁ˛ć²K

OK=KÉNJšO GÄNWÜN

„¹Ý¦=OKKK=GÄOH=PK=KÇP=ÖOI
²þ=þ−Č²şJ²˛ð¦=QK=EWÖOH=GWÖO
RK=CÑQHK

PK=EÅSJÖOH> KKK

„¹Ý¦=−×þ¹²þ=PK=EWÜNI=²þ=PKKK
ÖOI=¦=₣š×ÞŞš=ŁŞ¦ł×ŞŁ˛ć²K

PKKK KÜPWÖO

QK=CÖSJÑQH KÖOJÖN

RK=KÉOJÉN

ÌþÝþŽšÞ¦š= ₣š×ÞŞ¼=²×˛J
ł¦₣ÞþW=¦ý=−×¦¼þŠ¦²¹Č=ž˛−¦J
×˛²ş=¹Łþšłþ=ðþ×þÝČI=¹þŁš×Ğ˛Č
Ć²¦ý=¹˛ýþ³ˇ¦Ð¹²ŁþK

RKKK ÖPJÖO

SK=CÑQJÉO@>!flšÝŞš=Þ˛₣¦Þ˛ć²=¦=ŁŞ¦ł×ŞŁ˛ć²
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ÌÓÊÍ„ÓÎ˘„=ÌfiÓ�ÊÊ=Ê=ËÏÎÙ =̆ÌfiÓ�ÊÁ

Ì˛×²¦¦
№NK=Êž=²×˛ð²˛²˛=·×šðþ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NOQ
№OK=Êž=×³ðþŁþŠ¹²Ł˛=Ú¦Ý¦Šþ×˛ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NOU
№PK=fiÞŠš×¹šÞ=¥=Ë¦žš×¦¾ð¦ÐI=ÈþÞŠþÞ=NURN KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NPU
№QK=fiÞŠš×¹šÞ=¥=‚ć½×šÞI=flš×Ý¦Þ=NURO KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NQM
№RK=fiÞŠš×¹šÞ=¥=Ù³ðš×²þ×²I=fl˛×ýšÞ=NUSV KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NQN
№SK=Í˛Ðš²=¥=fiÞŠš×¹šÞI=flš×Ý¦Þ=NURR KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NQQ
№TK=fiÞŠš×¹šÞ=¥=Ù³ðš×²þ×²I=flš×Ý¦Þ=NUTN KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NQR
№UK=ˆ³Ýş²šÞ=¥=Íþ×½¦I=ÎşćJÁþ×ð=NURT KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NRO
№VK=Íþ×½¦=¥=Ô²šÞÝ¦I==ÎşćJÁþ×ð=NURT KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NRQ
№NMK=Íþ×½¦=¥=kkI=NURT KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NRS
№NNK=Íþ×½¦=¥=łš×¾þł=fl×˛³ÞĞŁšÐł¹ð¦Ð

¦=ł×˛½=Êž³˛×I=Ì˛×¦Ž=NURU KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NRT
№NOK=fl˛×Þš¹=¥=Íþ×½¦I=ÈþÞŠþÞ=NURU KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NRU
№NPK=flš×Š=¥=Íþ×½¦I=ÈþÞŠþÞ=NURU KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NSN
№NQK=Ô²šÐÞ¦¾=¥=ÍþÞł×šŠ¦šÞI=ÈþÞŠþÞ=NUSP KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NUT
№NRK=Ô²šÐÞ¦¾=¥=ı¦łþ×¦ÞI=·˛Ł˛Þ˛=NUVO KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NUV
№NSK=Ù³ðš×²þ×²=¥=Ô²šÐÞ¦¾I=Ô˛ÞJÈ³¦=NUUS KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NVN
№NTK=Í˛×ðþ=¥=Ô²šÐÞ¦¾I=‡šÞ˛=NUVU KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NVT
№NUK=˝ÞþŁ¹ð¦Ð=¥=Ô²šÐÞ¦¾I=ËšÝşÞ=NUVU KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NVV
№NVK=Ô²šÐÞ¦¾=¥=ÚÝšÐ¹¦łI=‡šÞ˛=NUUO KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OMN
№OMK=Ù³ðš×²þ×²=¥=Ô²šÐÞ¦¾I=ÎþŁŞÐ=Ï×Ýš˛Þ=NUUS KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OMR
№ONK=Ì¦Ýş¹ˇš×¦=¥=Ô²šÐÞ¦¾I=ÎşćJÁþ×ð=NUVQ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OMU
№OOK=È˛¹ðš×=¥=Ô²šÐÞ¦¾I=Íþ¹ðŁ˛=NUVS KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK ONO
№OPK=ÎšÐý˛Þ=¥=Ô²šÐÞ¦¾I=fl˛ŠšÞJfl˛ŠšÞ=NUTM KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK ONV

ÏðþÞ₣˛Þ¦Č

�˛××˛Ğ=¥=Ó³ˇ¦ÞĞ²šÐÞI=Ô˛ÞJÔšˇ˛¹²şČÞ=NVNO KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OOU
�˛××˛Ğ=¥=‡˛Ýşˇ×þŠ²I=NUVU KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OPS
Ó³ˇ¦ÞĞ²šÐÞ=¥=�šÐ¼ý˛ÞI=‡šÞ˛=NVMU KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OPV
�þ××š=¥=È˛¹ðš×I=Íþ¹ðŁ˛=NVOR KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OQN
Úþ×ł˛₣=¥=ËþÞI=Ìš²š×ˇ³×ł=NVMV KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OQP
�˛×²˛ðþŁš×=¥=‚³žJÛþ²¦ý¦×¹ð¦ÐI=Ë˛×Ý¹ˇ˛Š=NVMT KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OQQ
ËþÝ²˛ÞþŁ¹ð¦Ð=¥=˚ÐŁšI=ÈþÞŠþÞ=NVOT KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OQT
ÏÝÝ˛ÞŠ=¥=̊ ÐŁšI=·š²šˇþ×ł=NVOM KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OQV
‚ćˇ³˛=¥=Ô²šÐÞ¦¾I=ÈþÞŠþÞ=NUSO KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK ORM
‚˛Ł¦Š¹þÞ=¥=̊ ÐŁšI=Óþ²²š×Š˛ý=NVOQ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK ORN
ı¦łþ×¦Þ=¥=�˛××˛ĞI=Ìš²š×ˇ³×ł==NUVP KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK ORR
Î¦ý¾þŁ¦₣=¥=Ë˛−˛ˇÝ˛Þð˛I==Ìš²š×ˇ³×ł=NVNQ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK ORU
flþłþÝćˇþŁ=¥=Ë˛−˛ˇÝ˛Þð˛I=ÎşćJÁþ×ð=NVOQ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OSM
Í˛×Ğ˛ÝÝ=¥=Ë˛−˛ˇÝ˛Þð˛I=Ôˆfi=NVMV KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OSO
˚ÐŁš=¥=fiÝš¼¦ÞI=·þÝÝ˛ÞŠ¦Č=NVOT KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OSP
flš×ÞĞ²šÐÞ=¥=Ë˛−˛ˇÝ˛Þð˛I=Ìš²š×ˇ³×ł=NVNQ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OSS
�˛××˛Ğ=¥=Ó³ˇ¦ÞĞ²šÐÞI=Ô˛ÞJÔšˇ˛¹²şČÞ=NVNN KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OVS
Í˛×þ¾¦=¥=Í˛×Ğ˛ÝÝI=Ë˛×Ý¹ˇ˛Š=NVMT KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PMP
�šÐ¼ý˛Þ=¥=Í˛×Ğ˛ÝÝI==Ô˛ÞJÔšˇ˛¹²şČÞ=NVNN KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PMT
fl˛×ŠšÝšˇšÞ=¥=Í˛ðþŁš¾I=‚×šžŠšÞ=NUVO KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PMV
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Ï·Èfi‡È„ÎÊ„

fiK=Ë˛×−þŁK=Ì×šŠ¦¹ÝþŁ¦š KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK P

Ô�Ófi�„·Ê˝=Ê=�fiË�ÊËfi

·Ý˛Ł˛=−š×Ł˛ČK=Ô²×˛²šł¦Č=¦=²˛ð²¦ð˛ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK R

·Ý˛Ł˛=Ł²þ×˛ČK=Ô²×˛²šł¦ČW=þˇğ¦š=−×¦Þ¾¦−Ş KKKKKKKKKKKKKKKKKKKKKKKKK NT
fK=fið²¦ŁÞþ¹²ş=½¦ł³× KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NU
˛F=Ïˇğšš=−×¦ýšÞšÞ¦š KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NU
ˇF=ÔŁþˇþŠ˛=ŠŁ¦ŽšÞ¦Č=¹ÝþÞþŁ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NU
ŁF=Ï²ð×Ş²˛Č=Ý¦Þ¦Č KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OM
ffK=ÔŁþˇþŠ˛=ŠšÐ¹²Ł¦Č=½¦ł³×=Þ˛=þˇþ¦¼=½Ý˛Þł˛¼ KKKKKKKKKKKKKKKKKKKKK OO
˛F=ÙšÞ²×˛Ý¦ž˛¾¦Č KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OP
ˇF=Â˛ÞČ²¦š=¾šÞ²×˛ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OQ
fiK=Ú¦ł³×Ş=¦Ý¦=−šĞð¦=Ł=¾šÞ²×š\ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OQ
flK=ÎšýšŠÝšÞÞþš=¦Ý¦=−þžŠÞšš=ž˛ÞČ²¦š=¾šÞ²×˛\ KKKKKKKKKKKKKKKKKKKKK OR
fffK=Ô¦ÝşÞŞš=−þÝČ=EŠÝ¦²šÝşÞ˛Č=×˛¹¹²˛ÞþŁð˛
˛ð²¦ŁÞŞ¼=½¦ł³×F KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OS

·Ý˛Ł˛=²×š²şČK=Ô²×˛²šł¦Č=E−×þŠþÝŽšÞ¦šFW
¹−š¾¦˛ÝşÞŞš=−×¦Þ¾¦−Ş KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PN
fK=Â˛¼Ł˛²=¦Þ¦¾¦˛²¦ŁŞ=−×¦=Þ˛Ý¦₣¦¦=−×šŁþ¹¼þŠ¹²Ł˛
Ł=¹¦Ý˛¼ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PN
˛F=ÌšĞš₣Þþš=−×šŁþ¹¼þŠ¹²Łþ=Þ˛=þŠÞþý=¦ž=½Ý˛ÞłþŁ KKKKKKKKKKKKKKK PN
ˇF=Ì×šŁþ¹¼þŠ¹²Łþ=Ł=¹ŁþˇþŠÞŞ¼=ŠÝČ=̨ ²˛ð¦=¹¦Ý˛¼ KKKKKKKKKKKKKKKKKKKK PO
ffK=fi²˛ð˛=Þ˛=Þš−þŠŁ¦ŽÞŞš=−šĞð¦ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PR
˛F=ÔÝ˛ˇ˛Č=−šĞð˛ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PR
ˇF=Îš−þŠŁ¦ŽÞ˛Č=−šĞð˛=Þ˛=−þÝ³þ²ð×Ş²þÐ=Ý¦Þ¦¦ KKKKKKKKKKKKKKKK PS
ŁF=Îš−þŠŁ¦ŽÞ˛Č=−šĞð˛=ð˛ð=þ¹ÞþŁ˛=−šĞš₣ÞþÐ=¾š−¦ KKKKKKKKKKK PU
łF=Îš−þŠŁ¦ŽÞ˛Č=−šĞð˛=Þ˛=Š¦˛łþÞ˛Ý¦ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PV
ŠF=Ì×þŠŁ¦Þ³²˛Č=−šĞð˛=ðþ×þÝšŁ¹ðþłþ=½Ý˛Þł˛=ð˛ð=þˇİšð²
˛²˛ð¦K=‚Ł˛=¹ÝþÞ˛ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK QN

·Ý˛Ł˛=₣š²Łš×²˛ČK=	˛ð²¦ð˛W=þ=ðþýˇ¦Þ˛¾¦¦=Łþþˇğš KKKKKKKKKKKKKKK QP
fK=Ëþýˇ¦Þ˛¾¦¦=−×þ²¦Ł=ðþ×þÝČ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK QV
ffK=Ëþýˇ¦Þ˛¾¦¦=−×þ²¦Ł=Š×³ł¦¼=þˇİšð²þŁ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK RO
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·Ý˛Ł˛=−Č²˛ČK=Ëþýˇ¦Þ˛¾¦¦=−×þ²¦Ł=ðþ×þÝČ KKKKKKKKKKKKKKKKKKKKKKKKKK RU
NK=Ì×¦ð˛Þ₣¦Ł˛ćğ¦š=ðþýˇ¦Þ˛¾¦¦ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK RU
OK=Ó˛ž×³Ğ˛ćğ¦š=ðþýˇ¦Þ˛¾¦¦ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK SP
PK=‡¦Šþ¦žýšÞČćğ¦š=ðþýˇ¦Þ˛¾¦¦ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK ST
QK=Ëþýˇ¦Þ˛¾¦¦=−þ=łþ×¦žþÞ²˛Ý¦ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK TM

·Ý˛Ł˛=Ğš¹²˛ČK=Ëþýˇ¦Þ˛¾¦¦=−×þ²¦Ł=Š×³ł¦¼=þˇİšð²þŁ KKKKKKK TP
NK=Â˛¼Ł˛²ÞŞš=ðþýˇ¦Þ˛¾¦¦ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK TP
OK=Ëþýˇ¦Þ˛¾¦¦=Þ˛=−š×š¹š₣šÞ¦š=Ý¦Þ¦Ð KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK TR
PK=Ëþýˇ¦Þ˛¾¦¦=Þ˛=¹ŁČžð³ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK TT
QK=Í˛¹ð¦×þŁþ₣ÞŞš=ðþýˇ¦Þ˛¾¦¦ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK UM
RK=Ëþýˇ¦Þ˛¾¦¦=Þ˛=−š×šł×³žð³ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK UO
SK=Ëþýˇ¦Þ˛¾¦¦=Þ˛=ž˛ð³−þ×ð³ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK UR
TK=Ëþýˇ¦Þ˛¾¦¦=Þ˛=Šš¹−š×˛Šþ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK UU
UK=Î˛łÞš²˛²šÝşÞŞš=ðþýˇ¦Þ˛¾¦¦ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK VM

·Ý˛Ł˛=¹šŠşý˛ČK=ÔÝþŽÞŞš=ðþýˇ¦Þ˛¾¦¦ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK VP

·Ý˛Ł˛=Łþ¹şý˛ČK=Ëþýˇ¦Þ˛¾¦¦=Ł=ĆÞŠĞ−¦Ýš KKKKKKKKKKKKKKKKKKKKKKKKK NMS
NK=Ëþýˇ¦Þ˛¾¦¦=Þ˛=þˇ×˛žþŁ˛Þ¦š=−×þ¼þŠÞŞ¼ KKKKKKKKKKKKKKKKKKKKKK NMT
OK=Ëþýˇ¦Þ˛¾¦¦=Þ˛=−×þŠŁ¦ŽšÞ¦š KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNM
PK=Ëþýˇ¦Þ˛¾¦¦=Þ˛=−×šŁ×˛ğšÞ¦š KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNO

Òð˛ž˛²šÝş=−˛×²¦Ð=¦=þðþÞ₣˛Þ¦Ð KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNT

ËÒÓÔ=̂ fiÛÍfi�Î˘Û=È„ËÙÊÁ
Èšð¾¦Č=−š×Ł˛ČK=‡ŁšŠšÞ¦šK=Ê¹²þ×¦Č=Ğ˛¼ý˛²Þþłþ=¦¹ð³¹¹²Ł˛=¦
˛Þ˛Ýþł¦Č=šš=¹=¦ÞŠ¦Ł¦Š³˛ÝşÞŞý=×˛žŁ¦²¦šý=Ğ˛¼ý˛²¦¹²˛ KKKKKK NOM
Èšð¾¦Č=Ł²þ×˛ČK=fiŠþÝş½=fiÞŠš×¹šÞ=ENUNU=¥=NUTVF KKKKKKKKKKKKKKKKKK NPT
Èšð¾¦Č=²×š²şČK=Ì˛³Ýş=Íþ×½¦=ENUPT=¥=NUUQF KKKKKKKKKKKKKKKKKKKKKKKKK NRM
Èšð¾¦Č=₣š²Łš×²˛ČK=‡¦ÝşłšÝşý=Ô²šÐÞ¦¾=ENUPS=¥=NVMMF KKKKKKKKK NSR
Èšð¾¦Č=−Č²˛ČK=Ì˛×²¦¦=Ô²šÐÞ¦¾˛K KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NUT
Èšð¾¦Č=Ğš¹²˛ČK=Ì˛×²¦¦=Ô²šÐÞ¦¾˛=E−×þŠþÝŽšÞ¦šF KKKKKKKKKKK ONO
Èšð¾¦Č=¹šŠşý˛ČK=fi²˛ð˛=Þ˛=ðþ×þÝšŁ¹ðþý=½Ý˛ÞłšK KKKKKKKKKKKKKKKKK OPQ
Èšð¾¦Č=Łþ¹şý˛ČK=fi²˛ð˛=Þ˛=½š×žšŁþý=½Ý˛Þłš KKKKKKKKKKKKKKKKKKKKKKKK ORQ
Èšð¾¦Č=ŠšŁČ²˛ČK=̊ ÞŠĞ−¦Ýş KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OSV
Èšð¾¦Č=Šš¹Č²˛ČK=È˛ŠšÐÞŞÐ=ĆÞŠĞ−¦Ýş KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OUP
Èšð¾¦Č=þŠ¦ÞÞ˛Š¾˛²˛ČK=Úš×žšŁŞÐ=ĆÞŠĞ−¦Ýş KKKKKKKKKKKKKKKKKKKKKKKKKK OVV

Ì×¦ýš×ÞŞš=−˛×²¦¦=¦=þðþÞ₣˛Þ¦Č KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PNQ


